(2)HERRKRE(T2—4)

(HFI3E)
- 1,000g | 1,000~ | 1500~ | 2000~ 2,500g - s
® ki |1.500g5ki%| 2,000g5ki%| 2.500gk5%|  WE o
£ H 811,622 2,443 3,647 9,975 59,995 | 735463 99
I B 2 11,730 34 63 154 853 10,625 1
BERRE 1,271 3 9 18 93 1,148 0
ES A 378 1 4 7 23 343 -
T’ 584 2 3 9 45 525 -
L) 60 0 0 1 9 50 -
= hn#Er 38 0 1 0 0 37 -
JIIDET 50 0 1 1 2 46 -
L RET 13 0 0 0 0 13 -
J\E 2T 30 0 0 0 1 29 -
=PIL:s 27 0 0 0 3 24 -
HEJIET 8 0 0 0 3 5 -
i T 83 0 0 0 7 76 -
(3) FERANEIRE R (2,500gK i) EH - & (T2—5)
TR 24%E FRL25% FR264E FR274E T RL284E
& H 99,311 9.6 98,624 96 95,768 95 95,206 95 92,082 9.7
I B2 1,575 95 1,496 94 1,322 8.7 1,402 9.1 1314 94
BN 155 8.7 160 9.1 145 86 172 10.1 156 98
EF G 37 7.3 43 8.7 41 8.1 41 8.5 48 8.4
P 84 10.2 61 7.7 64 8.3 87 108 67 114
IR A AT 1 16 9 15 7 137 6 9.7 5 10.7
= hnET 3 6.1 4 9.1 3 75 2 50 2 95
JII3DET 3 45 7 858 2 28 9 132 6 104
+RET 2 0.0 4 222 - 0.0 3 176 2 0.0
J\EEHET 12 176 13 20.3 9 148 6 95 9 93
B J1IBT 4 8.3 5 156 4 105 5 135 - 0.0
E=MIEs 1 7.1 0 0.0 - 0.0 1 8.3 - 125
1 T 8 6.0 14 10.1 15 12.1 12 105 12 8.7
TRi295 TR 304 SMTHE S24E SHE
2 H 89,353 9.4 86,269 9.4 81,462 9.4 77,539 9.2 76,060 94
I B 2 1,314 9.4 1,248 9.1 1,256 9.8 1,051 8.7 1,104 94
BN 156 9.8 125 8.6 133 9.4 120 9.2 123 97
ERmEm 38 8.4 40 9.2 30 7.7 35 8.6 35 9.3
a R 85 11.4 53 8.3 55 8.5 56 96 59 101
IR ET 6 10.7 6 9.1 11 16.9 3 56 10 16.7
= JET 4 9.5 3 7.9 5 9.8 3 77 1 26
J1 B ET 7 10.4 10 145 11 16.4 7 137 4 80
+RET - 0.0 4 30.8 1 5.6 - 0.0 - 0.0
J\EZHET 5 9.3 4 8.2 3 8.3 3 77 1 33
B J1IBT - 0.0 1 3.6 5 21.7 1 48 3 11
wEIF 1 12,5 - 0.0 1 1.1 2 20.0 3 375
1 T 10 8.7 4 3.6 11 9.8 10 10.2 7 8.4
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